Agilemind: Transforming Functions - Exploring

SAS3: Answer question 5

5. What values of a, h, and k will transform the graph of
the parent function rule f(x) (the solid red line) so that
it matches the graph of the new function rule

af(x - h) + k (the dashed red line)?

It appears that the original graph
was shifted to the left and down
and underwent a vertical shrink.

1/2 as tall a=0.5
4 unitsleft h=-4
10 units down k =-10
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Given a Parent Function y = f(x)
Describe the transformations performed on f(x)
to create the function g(x) below?

g(x) =CIf(x-5) +8
- = 7 x faller L X—aws re-(—(ac:('zér\

b Sl/lb"/‘fﬁcﬁng mside < ) Means
 moved right = = r‘lfj)’ﬁ“

ﬂ‘% > C@&m\fj &(Jr‘ H\Q ond Wmeans |-f- moved
Up = up



Given this Parent Function: f(x) %) - 3)%* 1)
Describe the transformations performed on f(x)
to create the function g(x) below?
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What values of a, h, and k will transform the original graph (solid lines)
in to the new function (dashed line) y = af(x-h)+k
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Given this Parent Function: f(x) =(-6f(x+1)(- 5/
Describe the transformations performed on f(x)
to create the function g(x) below?

a(x) =(x-3)(7)
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What is true about the values of a, h, and k will transform the original
graph (solid lines) in to the new function (dashed line)
y = af(x-h)+k
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a: The tranformed function is Shorter/wider

than the original graph, so__ 0<a<1
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